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Note :— Attempt all questions.

SECTION-A

1. Attempt all parts of the following. Explain the

following : 1 x8=8

(a) Define mutual exclusion.
(b) Whatis throughput?
(c) Define non-preemptive scheduling.

(d) What is critical section?

(e) Define paging.
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() What is thread?

(g) Definea file.

(h) Name any tWoO file access method.
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SECTION-B

2. Attempt any two parts of the following:  2x6=12

(a) Define the critical section problem. How

critical section problem can be handle by using

semaphore?

(b) What are the main services provided by

operating system? Discuss each.

(c) Describe the following memory allocation
scheme :

(1) First fit

(i1) Best fit
(111)) Worst fit.
(d) What is address binding during processing of a

user program? Describe different types of
address binding.
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SECTION -

Note:- Attempt all questions. Attempt any two parts
from cach questions, 5, 040

joskss 1oy e executed on A single processoy

ot in the order A, 1. C.D. Thewr
| time

1. qa) Towm
System at 1ime
Burst CPLU time requirements are A 1. %,
units respectively. What will be the completion

time of "A" under record robin scheduling with
time slice of one unit?
(b) Describe multiprogramming and batch

processing.

(c) Whatis critical section problem? Give a solution

to critical section problem.

4. (a) Explain producer-consumer problem of

synchronization.

(b) Explain banker's algorithm with example.

(c) Whatisresource allocation graph? Describe use

of resource allocation graph.

5. (a) Differentiate in between baging and

segmentation.
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(b) Explain the concept of swapping with 8 “‘el ,
’ example. T
(¢c) What do you mean by bage rcp\acement‘? -
&Y
ge replacement. L\
oY

Describe the need of ba

le system? Explain 1ts functions.

6. (@ What is fi

(b) Suppose that
is currently serving
FO order is 80, 1470,913,

1750, 130. What will be the total
k arm move for FCES and

ithm?

4 disk has 5000 cylinders. The drive

at 143. The queuc of pending
1774,948,

rus

requestF I
1509, 1022,
distance that the dis
SSTF. disk scheduling algor

ent file attributes. What does these

(c) Name differ
attribute describe?
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